LESSON-1

(Contents: gm@ﬁaz (Difference in Persons). dd«H (Number) Agreement -

Roots and suffixes - ) HTcHYGH, IREHUCH )

gey<e: (Difference in Persons)

The general characteristic of conversation, as we know, is to make others
near at hand know about some other objects or persons in the form of
sound. Hence three things are required if conversation is to take place.

1. A topic to speak about.
2. A person to listen .
3. A person to speak.

If any one of these three is absent, conversation is impossible. Even if
there is a person to speak and someone to listen, but there is nothing to
speak about, conversation is not possible. Both of them will have to sit in
silence. If there is a person to speak and a topic to be spoken of, but
nobody to listen, it is not a converasion, but mere madness. If there is a
topic to speak about, and somebody to listen, but if there is no one to
speak, again conversation is not possible. Thus, we see that wherever there
IS a chance of conversation, all the three things are quite essential.

These three things, essential for conversation are denoted by the term
J2Y". It is quite different from the word ¥ (man), the opposite gender

of woman (&3T). Let us define it as the essential part required for
conversation. In English grammar it is called 'person’.

The topic or the thing spoken about is called FIHI?Y. The person,
who listens, is called AEIHTEY. The person, who speaks, is called
3cdATRY. Suppose, | speak to you about Rama. Rama, being the topic of
conversation, is FIHILY. You, being the listener, is FEIHTLRY, and |,
being the speaker,3cdHATR.



In English, this order is seen to be reversed. In Indian languages it is
to the topic of conversation that the first place is given. In English it is to
the person, who speaks.

INDIAN LANGUAGES

Hindi Sanskrit English
JYAYEY - 98,9 &, d He, they 3rd person
HEIJHAYRY - [, JH  aH, JIH Thou, you 2nd person
3cdARY - H, g8 316H, 9IH 1, we 1st

person

When the order is reversed the middle part remains unaltered. Thus

the second person, ie. HEJHATILXY has the same place. In grammar 3cdd’
means the last; not the best as seen in the common use*

dddHA_(Number)

dde«IH means number. In most of the languages there are only two
numbers. Singular and plural. Singular is to denote one and plural to more
than one. But in Sanskrit there is a slight difference. Singular (Teh dd«IH)

denotes one; dual (&fd I==TH) denotes two and the plural CREECEY
more than two. Thus there are three numbers in Sanskrit.

Agreement of subject with the verb.

In the sentence 'Rama walks' the action of ‘walking' is done by Rama.
Hence Rama is called 'Subject' (adT) of the verb 'to walk'. The word ‘walk’
denotes the action done by Rama. The word, showing the action is called
verb [fshaT]. The subject and verb must be matching in person and number.
Compare the following examples:-

* In certain modern Sanskrit texts, imitating the English pattern, this order is seen to be upsid down.
English grammarians give the first place to the speaker, second place to the listener, and their place,
to the topic. But the order given by Indians is just the reverse. Indians give the first place to the
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topic, the second place to the listener and last place to the speaker, while the English men count in
the order I, You and He. The Indians count in the order He, you and I. Hence this change. (i.e. one
order is from the speaker to the topic, the order is from the topic to the speaker.)

Paanini and the order grammarians in Sanskrit had adopted the same

order of FYHATXY, HEJHAIXY and 3cdHYRY (He, You and I). We are
following this order to avoid further confusions.

SINGULAR PLURAL
English  He goes They go

Thou goes You go

| go We go

Hindi dgsar@eang J9d (@ran &
G (S JH S (ST &
HIAT (G E  FH S (S €

Sanskrit &: I1fa d Irfea
od Iy I ary
g ATTA ag gQrHA:

From the above examples, the manner in which the verb changes is
quite clear. In Hindi we can understand also the gender of the subject from

the verb. From the verb 'STTaT &' we know that one who goes, isa male in

addition to the 'person’ and 'number' of the 'subject’. In the verb ‘STl &' we

know that it is a female who goes. But in Sanskrit, gender will not cause
any change in the verb. The same from of verb is used for both male and

female subjects. I IITT | Trar AT |

Roots and Suffixes

If we examine closely, we can see that a verb contains two parts. The
first part is known as root (87q) and the second, suffix (¥cJ¥). The part

that suggests the action is called 9T and the part that shows when or how

the action takes place, is known as Icd3 (suffix). The parts of the verb
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'walked' are 'walk' and 'ed'. Here 'walk’ is %ngr It shows what the action is.

The part'ed’' shows when the action takes place. Suppose, we say 'the boy
walked' the action of walking of the boy must have occurred in the past.
Hence the part'ed’, which shows when the action takes place, is called,
'TcIA'. Changes occur to this part of the verb, ie. "IcT", according to the
person, number of the subject and time or mode of action.

In indi and English each of the three persons has two numbers. Thus
there are altogether six forms. In Sanskrit each person has three numbers.
So a verb will have nine different forms.

Thddeld | gidddsId Dual SgaaetH Plural
Singular
TUHIL: g:  (He) al (They 2) o (They)
HEJHAIRY: cdH (Thou) garH (You 2) gIH (You)
3cdHTR: 3eH () | 3marE (We 2) aaH (We)

The verbs corresponding to these subjects are formed by adding the
following suffixes respectively to the roots in present tense.

TAHILY: fa SE 3fed
ACTAYEY: & g o
EISEICE & CE :

Just as we add the suffix 's' to the root 'to learn' to get the verbal form
'learns', we add these suffixes to the roots in Sanskrit with the subject in
number and person. For example:-

3T (go) a7 + fa = Tfa (goes)
forag (write)  forg + fa = for@far (writes)
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93 (learn) gs + [ = 9o (learns)

Now let us match the verbs with the subject according to the person and
number.

UhdddH GidddedH CRECGE
TYAGEY: {: AT dlara: daifed
AEIAGEY: I A JAT AT T ITY
EISERE e TfA  3TaT I19: 9 AA:
One thing must be particularly noted. No word other than &, I,
T is to be taken as HEIFHTLY and no word other than 378, 37T, I can

be considered as W. All other words, we use, come under the

.

section of FYHATEY. Even the word 'HdTeT having the same meaning of cd@
(thou) is used as THHTLY | 37T AT |

We have taken &, i, o as examples of IYHYLY. They are pronouns
(TA=TH) | Some forms of the nouns are different in plural.

areT: (boy) dTeil (2 boys)  dTeT: (boys)
fersg: (pupil) st (2 pupils) FRIsAT: (pupils)

Similarly geT: gait gem:, I T I etc.
According to the nature of certain roots, some changes can be seen in
their forms - Compare the following:-

96 (To learn) 3IH (To be)
TYAYEY: Usfd gSd:  UYoled 3T T:
AEIAYEY: Iy I3 qsY JT

T £ Sd)



ScdAEY:  gaIH qara: oA 3TEA
& &H:
Here in the plural of 9¥HJeY, 9g + 31fed, the vowel 37 of 31fed
drops. In 3cdAYEY, 9& has become JaT as in JoIfH JaTd: YoTH: |

In the dual and plural forms of 318 the first letter 37 drops.
In 319 + T& one g also drops.

WREAYE and 3MTcAAYT |

Roots and suffixes are of two kinds. They are known as IREHYG, and
3TcHAYE | To the roots in IXEHYGE, only the suffixes prescribed to the
roots in TXEHYIG are added. And to the roots in 3Tcd=19g, only the

suffixes prescribed for 3TcH=UG are added. The suffixes prescribed for

both, convey the same meaning. Both can denote the same person and
number. What we have already learnt, is one set of suffixes. We have now
to learn one more set of suffixes. But it must be remembered that the
meaning and the purpose of the two sets of suffixes are one and the same.
To an English man this nature of functioning may be absolutely strange.
Hence he may find it difficult to grasp the idea without illustration. Let us
make it clear by an example.

We wear clothes to cover nakedness. Though the purpose is the same,
men and women do not wear the same type of dress. If one wears the shirt,
the other, skirt. Whatever be the type we use, the purpose is the same.

In the same manner there are two kinds of roots in Sanskrit just like
the men and women in the human kind. One set of suffixes suits one kind
of roots and another set of suffixes suits the another. These two sets of
suffixes have the same meaning. Of these, the suffixes given above are

called IRTHTE, | They are to be added only to SREHYIE, roots. There is
another set of suffixes called 3TTcdH=1q¢ | They are added only to
3TcHAYG, roots.



On careful examination it will be seen that there is only very little
difference between these two sets of suffixes. Generally, the changes seen,

is only in the last vowel. The main change is the last vowel 'S’, becoming

'T". Probably the same suffixes might have attained different forms because
of the contact with different dialects prevailing in different regions.*

The two kinds of suffixes are given below to show the similarity between
the two.

REAICHIAT: cHAYCH I AT:
9.g fd a 3ffed d  3d 3ed
Ay o v ¥ 3 &

39 A T & T dg Ag

* The definitions given to 3TcHeIdg and IREHYIG, by the grammarians

seem to be inadequate. Paanini might have adopted their definitions, as he
did in many other things, because of his reverence to the ancient teachers.
In fact, most of the usages found in classics do not at all agree with the
definition. It is better attribute the cause of this classification regarding

Jgcs to certain historical facts.

Reserchers have provided us with proofs to assert that the 'Aryans'
are a set of people who had come in groups and settled down in the plains
of the Indus and the Ganges, from the suburbs of the Caspian Sea in the
Middle East. They had come to India in different periods through different
regions. Some might have come through Persia and some other through
Kashmir. On their way they might have settled down in each place for
centuries. Due to the contact with the dialects of the locality or due to the
peculiarities of the locality, the pronunication of the suffixes might have
attained different forms. Such changes are very common in all languages.
Later, when they met together in the plains of the Indus, they might have
accepted both kind of pronunciation correct. But there was no hard and
fast rule, in those days as the particular suffix is to be added to root of
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particular kind. According to one's own will and pleasure both sets of
suffixes were added to root of both kinds irrespectively. It is quite clear
from the Ramayana that Valmiki had no notion of such classification of
roots. The same is the case with Maha Bharata also. Whatever be the root,
one of the two sets of suffixes could be added without any distinction.
There was no such classification in those days. It is presumed, such a
classification has come in force only after the age of the Great Paanini.
The scholars who succeeded him began to add here to the rule strictly.
Paanini went on classifying the roots until at last he found himself in a

wildrness. So he had put many roots under a third head called 387d49¢ to
which both sets of suffixes can be added. The rule regarding classfication
of TREHYIG and ITcH=14g adopted by the ancient teachers is as follows:-
If the speakers thinks that the benefit of the action would go to another

person (9X) the suffixes to be added to the roots, should be of IREHTE, If
on the other hand, the speaker himself (3TcHeT) is benefited by the action,

the suffixes prescribed for 3TTcH=Ide must be added. Generally this rule
has not been observed by any poet in Sanskrit.

Modern researches do not agree to the fact that the Aryans had come
to India from outside. They say that Aryans were the inhabititants of India.
Let it be so. Even then my stand is not baseless. Their language might have
adopted different accents of the dialects then prevailing in different parts
of India.

Compare them with the verbal forms obtained by adding the suffixes.

7. 9. gofd  Iad: Uoled YA N
Yol

AT gofd & a2 TS
VY STy

3.9. iG] SrIGE UoTH: A N IGES
HISTHE

There are some roots that behave like certain actors who put on the
clothes and ornaments of both men and women to suit the occasion.
8



Likewise both sets of suffixes are added to the same roots. Such roots are
called 3HIYCS (34 - both). For example:-

ol = to serve
REAICH cAAYSH
.9  #Hafd Hold:  ¥olfed  &sld  &9ld
$Toledl
A.9. yaIfd wew w9y oy oy
sToTed

3.9 AN  HIE: HAH: A Holldg  HolHg

Some roots under the three categories i.e. TRETHIG, TcHIYG and
3dY4Yc, are given below. For easy recognition, the singular forms of
TIHAIRY of verbs are shown here. The roots are obtained by removing the
suffixes. i.e. 90, ofH, HJT etc.

QREAICH TcAIGH 3HIICH

gafd = learns oTHd = gets TSI or HSTA = serves
Tl = moves ITad = begs gafd-d = cooks

deld = says Q8T = shines gufd-a = sows

for@far = writes Hied = delights dgfd-a = carries

AT = bows T = talks gaaid-a = calls

eITafd = runs I = tries gafa-a = weaves

gdfd = falls g&d = bears ISATd-o = performs TaT
shrsfar = plays aud = shivers ferafa-a = throws
GG id = eats dogd = greets fAefa-a = meets



EXERCISE Total — 100 marks

A

Add the following suffixes to any of the roots given below and use
them in your own setences. (eg:- & | agIff, 3§ agri®) (10 M)

Y, 3, ¥, 9AT, € €d, b T, ¢, 3, 205 |

Write person and number of the following verbs and split them
up into T and Y. eg: - AIS - ScAHYLY TehddlsT | HIe + 5 |
(10 M)

¢ &TATHE JTEfed 3JANH gaura: A & HAH:
LAY (UIEd R THed fo dog |

Translate into English : (12 M)
¢ geT: Udfed I Teleh: dafd 3 aTell AHAT: ¥ HI: arafed |
A dY: & 3¢ forEni®@ b Tgq ¢ T YSTH: |
Tl Ao 2o JET: AYecd  ¢¢ AT HIGH ¢ G A |
(STeTeh:, T = Father; g€: = old man; g&T: = Tree; &TeT: = Boy; HT:
Deer; STeT: = People; J: = Sun)

Translate into Sanksrit : (12 M)

1.Weplay 2.1sow 3.1bow 4.Wetalk 5. They eat

6. Two boys delight 7. The cooks cook 8. You two bear

9. The trees shake  10. Two beggars beg  11. Two pupils greet
12. The Brahmins perform "Yajna'

(FeT: = cooks; &fdsiT: = Brahmins; g&T: = trees; ATTeh! = two
beggars, &1, farsaT = pupil)

Correct the sentences:- (10 M)

? 9 JTad | 2 &I Idid | 3 JT A% | ¥ 37TaT forgy: |
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Vi

VII

Scadeid | & T AL | b FAST Ay | ¢ T T |
R 3 HTd | $o Sloleh: WEH |

Match the following nouns with the verbs:- (10 M)
Subject Verb Subject Verb

23§ uoled & GaETeTH:

TS Alerag b IT MAT
3gelt Wy ¢ed Weed
821(:&' gdd: QIAT: ITIEd
gmar  forara togy U

Add suitable suffixes:- (10 M)
?. 318 Hle- RGIMA- 3.FA: Y9S- ¥ Far: Id-
g, fISAT: Iq- €. ¥eFcT: ¢T- L. Gfdall Fal- ¢ I Y-

Q. JTATHIZ- o, ¢RT: He-

V111 Write the correct forms according to the direction:- (10 M)

IX

(Eg. - ATcHAYE HETHYLY: Gdade = H9)

? REH-3cAA-TE | R IMcAA-TUH-IG | 3 REA-FEIA- |
¥ HTcHA-TUH-Th | § RIH-3cdA-Ueh | & IHT-3cdH-Tah |

b REH-FAEIH-TH | ¢ 3HI-ALIA-TE | R 3TcHAA-3cTH-UF |
2 o qTH-TUH-TH |

Write 9¢, 9% and gd+ of the fellowing:- (10 M)
(Eg:- 9Ia: - WEAYE, ScdHAILY: &fdadeia)

CAATH: e 3YUEIA Y¥Idde Y dded & TdA:
baved ¢ for@fd Rasg  to udm@:
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Learn by heart:- (06 M)

1. The suffixes in the present tense of IREHYIE and 3TcHAIE

(nine each)
2. All forms of the verbs in both padas (I&fa and HTYd)

3. The meaning of roots, in each 9¢
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